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QUESTION 1
ABC Ltd manufactures product X and this product is sold as soon as it is produced.
There are no opening or closing stocks and work in progress is negligible. The company

operates a standard costing system and analysis of variances is made every month. The

standard cost card for the product (X) is as follows:

Product X

Direct materials 4 kgs @ ES =E20
Direct labour 5 hours @ E3 =E15
Variable factory overheads =E10
Fixed factory overheads =ES

Budgeted output and sales for the month of Novemeber 2009 was 5000 units. The
standard selling price per unit was E55.
Actual results for the month wer'e as follows:

- production and sales were 4800 units and all units were sold for E288,000

- materials bought and consumed in production amounted to 21000 kgs costing

E84,000

- Direct labour hours worked and paid for were 24,500 costing E61,250

- Variable factory overhead costs were E5S0,000

- Fixed factory overhead costs were E25,000

- Required: Compute all the relevant variances including the total variances

(25 Marks)

17
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Question 2
Tenele Ltd produced two films (movies) in year 2010. These movies are joint products.
Tanele Ltd also generated revenue from admissions paid by fans touring the movie
production sets. The company regarded the net profit from tours as a by — product of
movie production. The company accounted for this income as a reduction in the joint

before that joint cost is allocated to movies. The following information pertained to the

two movies.

Products Total receipts Separable costs
Movie 1 E4,000,000 E2,4000,000
Movie 2 E27,000,000 E18,600,000
Tours E300,000 E140,000

The joint cost incurrred to produce the two movies was E8,000,000. Joint costs are

allocated based on net realizable value.

Required:

a) distinguish between a joint product and a by product. (9 Marks)
b) how much of the joint cost was allocated to each movie? (10 Marks)
c) how much profit was generated by each >m0vie‘? | (6 Marks)

Total: (25 Marks)

Go
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Question 3

You are given the following informat'ion:

Total sales revenue E750,000

Total units sold 15,000

Break even units 10,000

Break even value E500,000

Total cost E600,000

Total fixed costs ' E300,000

Required:

a) use this information to draw a break-even graph (9 Marks)

b) the following must also be indicated clearly on the graph
1) profit area (4 Marks)
ii) loss area ) (4 Marks)
iii) contribution margin (4 Marks)
iv) margin of safety (4 Marks)

Total (25 Marks)
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ABC Ltd manufactures product Y. The folowing details regarding production for March 2010

are available:

i) current inputs for March
(material (90,000 units) E498,600
Conversion costs E308,280
i1) Closing work-in process amounted to 24000 units and the degree of completion were:

Direct materials 100%

Conversion costs 70% complete

iii)  The transfer to finished goods storeroom amounted to 58,000 units

iv) Normal loss is equivalent to 2% of current input, and together with any other losses, it

is deemed to occur when production is fully completed.

Required: complete the following

a) value of completed units

b) value of abnormal loss

c) value of ending work in process

Total

(9 Marks)
(9 Marks)
(7 Marks)

(25 Marks)
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A) Ininventory control there are costs associated with overstocking and holding

L

stock.

Required: Briefly list these costs

The following employees are paid on an hourly basis:

Employee Normal Time Overtime
Khanu 45 -
Sihle 42 -
Bizi 43 4
Themba 45 6

(14 Marks)
Sunday Normal
Rate
5 E10.70
8 E8.40
- E7.60
- E12.80

Overtime hours are paid at one and one —half time of the normal rate hourly rate. On

Sunday, overtime hours are paid at two times of the normal hourly rate.

Required: calculate the gross remuneration of each employee for the week (25 Marks)

i) Khan
ii) Sihle
iii) Bizi

iv) Themba

(2 Y2 Marks)
(2 Y2 Marks)
(3 Marks)

(3 Marks)

(Total: 25 Marks)



